19.

ﬁmamﬁ?ﬁqmwaﬁﬁrméa:awﬁmmm
T, 093 TN TEEH! FHF T B4 2
A) TEEEEH HREHE T IR THRI E

“4BY Wmmmﬁ

20.

21.

22.

23.

C) USUheE TS YR THSh FHIG AT I © ﬁgﬁﬁgﬂ‘—mraﬁ
D)  TeaTe QiHTaH! ik 4 T gaa

Which of the -following is not provisioned in the Bank and Financial

- Institution Act, 2073 regardmg the Board of Directors of the Bank and

Financial Institution?

A) Board Director should be of atmost 4 years A

B) The Board Directors should be appomted by the'General Assembly of
the institution

C) ‘Board Directors are not reappointed when their tenure is finished once

D) there should be at least five persons in the Board of Directors

AT AT T S i GEE SRRl e g e deeh B 2 ‘
A) 3551 . B) R¥IT ) 0T D) NI

‘How many open market exchange currency has been specified in Nepal by

.NRB? 3

A) A8currency - - B) 19 currency :
C) 20 currency D) 21 currency :
ARl faEHeR! 'crf%taa STAYfeE TR AR faamaﬂé w
mtwﬁqmmﬂmm ?

A) 3 B) ¥ v o) % : D) i

How may. schedules of the Constitution of Nepal have listed the power of
state distributed to Federation, Province and Local Level?
A) 3 : B) 4 S = D) 6%

'mmmmwmm@ma&mﬁ

TR ST TRl B S T 2 :

A) WUAY B) WWAL O WAL D) WAAO
According to the Multidimensional Poverty Index Published by National
Planning Commission, which Province of Nepal is with highest prevalence

of poverty? =2
A) Province No. 4 B)" Province No 5
* C) Province No. 6 D) Province No. 7

mﬁﬁmmmmmmmm@
AT 2

A)‘l 'B) X%

o

=6 3 2~ ' D) mawmaw

How many members are provisioned in the Llinguistic Commission except

~ its Chairperson as per the Constitution of Nepal"

|

AySa4: B) 5

C)_ 3 ' ? : D) Aspernecessity

~RU~ T



25,

26.

27.

_28.

29.

L3

31

a. oewxﬁwﬁrﬁmmmwmqﬁm
WME? 2

~ A) ®.R,300 B) %.300 c) zwoo D) %.90,000
~ What is the minimum monthly wage of worker fixed by government of

Nepal for FY 2074/75? :
A) Rs.9,300° ‘ " B) Rs.9,500
C) - Rs. 9,700 D) Rs. 10 000

wmmmmmmmw

Ay % B) © . € 5 D) - R

Hom many places of Nepal have been declared wetland (Simshar) now?
A) 6 S B T G 8 D) 9
AIBRRR o wM < e W w1 TRk AR B S Y= TN

 fozu! gomt 7 weee W A T | s W . L e faese ws

A) ufEm - B Rf@w 0 ifm D) ¥fH

A and B together can do a piece of work in 9 days. If a does thrice the work
of B in a given time, A alone can finish the work in . . . days:

A) 15days  B) 12days C) 6days ~ D) 4days

,ﬁﬁkﬁam@w% Niowéw%?:ﬁm?xﬁam

Hfageagen 2
A) ' T.R,900 B) =. ?owx ‘C) w3040 D) = ?O?K
If 15 meters of cloths costs Rs. 1, 260 find the cost of 25 meters of the same

type of cloths. :
A) Rs.2,100 B) Rs 2,075 C) Rs.2,050 D) Rs.2,025

%o foret 3t st i o R 2 mmwmwwm 7

A B) ¥ QR S by R

How many jars each of capacity of 2 % litres are needed to fill up 60 litres of
0il? . ;

A) 23 S - B) g €) 35 D) 26

S A TSR 3/¥ TR & . T W T Sl Wio SR i o 2

A) MW B) ufa 0 sfa D) %1fh
If 3/4 of a stick is 6m, what w111 be the value equal to 5/8 of that stick?

A) 2m B) 5m’ € 8m D) 1lm

fﬁs%mfva?%m..;.zal_

A) 9980 B) ﬁmo O 9390 D) q¥/30
The subtraction of 2 75 10 from 3 Sis : Sei e :
A) 11/10 B) 12/15 o )= o13/10 D) 14710
fr e adm wavigd g 2 : .

A BRI L B) AL ey Aae D) W&

~R% ~



32.

33,

34.

35,

36.

37.

38.

39:

Which of the following fractions is the largest? >
A) 17/21 : B) - 12/155°, C) 11/14 D) 5/6

ali SRS TR TS T FAEF TS 2
A) © eq B) 0008 () 08 , D) 0.0
Which of »theA following is correct to convert the fraction 'l%into decimal?
A) 071 B) 0.007 0) 0T - D) 0.07
IGGR £ 9R.RY4R - x = I5XY.00R A x Tl A i & ? 5
A) YORY " B)  ¥¥R&Y O ¥3RY D) ¥oRkY
In 3889 + 12.952 — x = 3854.002, what is the value of x? sy
A) 4795 B) 4495 C) 4395 - D) 40.95
T TeeTeh! STHTETR SYTHERT TIEs1 i 58 2
A) 0.00% "B) 0.% 7€) 003 i D) 0Y
- What is the value of half of 1 per cent written in decimal?
A)- 0.005 B) 0.05 C) 002 D) 0.5
AR TR S FehTer T 7 8 2 cin

TPR PTI PTR PTA
e en: 208 il 0 Bolaien 1 Bl Ieag
Which of the following is the formula for calculating Simple Interest (I)?

S = FTPR: 3 PTI PTR PTA

A Toon o P g Crolsoee - 2l

X THEEIR TEl T. x0000®§§aﬁqmniaﬁmummma G

3,400 T 97 Toeh! ST SIS STh! e $id IRA §5 2
A) Y4% B) 34% C) 4% =D ??K%
If the difference between the simple ]nterest received from two banks on
principle Rs. 50,000 for two years is Rs. 2,500, what is the percentage of

difference between their interest rates?
A) 45% By 3.5% C) . 25% . D) 2.25%

i SATeh1. 10 FCTRT TRV ST T L THAT T. 9,400 D 2.
A) T.¥,R00 B) %.4,000 C) %T.4900 D) %.¥,j00
What sum will amount to Rs. 7, 500 in 5 years at 10% per annum simple

interest rate?
A) Rs. 4,900 B) Rs 5,000 C) Rs. 5,100 D) Rs. 5,200

%0 ﬁmﬁz&t@ﬁmmﬁaﬁwxaﬁamﬁ:ﬁmwm
TR ST SR aﬁémqﬁﬁmaﬁﬁtaﬁtmaﬁﬁ ?

A) woTd B) 3=y - 0 wrad D) oy =
The average age of 50 students and a teacher is 25 years When the teahcer's
age is excluded, the average age decreases by 1 year, what is the age of the

teacher? .
A) 59 years B) 51 years C) : 64 years D) 75 years
1% 99, 9%, 99, 99, 93, 9% TIX, TUH! ARG BEEER! AHd IR Hia T

TS ?

W poww oomm b oww.

~

~R9~



40.

41.

42,

43.

45.

46.

The ages of eight girls are 16, 11 13,10, 11, 12, 16 and 15 years, which of
the following is an average age?

A) 11 years B) 12 years C) .12.5 years D) 13 years
99 51 fermeltnt o s ¥R WAL T 1 R fornedia san oea T4
e 39 1Y A1 79 | O 5 foeneiient s=m =fa 2.4, e

A) wxafm B wedfm o ¥ D akIf
Average height of 11 students is 142 cm. When a student leaves the class,
the new average height becomes 141 cm. What'is the height of the leaving
student?

A) 145 cm B) 147cm C) 152cm D) 159 cm
it HieRTel T. 9,080 I E. YR T 2 : o

A) 9% B) 1% O 9¥% D) 9%%
What percentage of Rs. 1,060 is Rs. 1597 S

Ay 100 - - B) i 12%: C) 14% D) 15%

mmmr%mﬁaomﬁmﬁsw@m mmtaﬁmm|
HeRE THid giRrd Qe ?

A) ¥0% ~ B) &% C) 0% D) %¥%

In a class of 180 students, 72 are girls and rest are boys. What is the
percentage of boys? \

A) 40% B) 56% C) 60% D) 64%'
¥00 = ¥0 Ffagrdeh! ¥ Fawrd +id &8 2 S e

A) 9%0 ~ B) &Y €) 9% D) &¥
What is 4% of 40% of 400? - T o

A) 160 B) 64 €)1 D) 64

S TG fohen] T I Teaeh! }Y, ARG S WA AT Wiaed i 9 2
A) 0%  B) R00% ° . C). 0% ' ‘D) %

If cost price is 25% of the selling price what is the profit percentage?

A) 150% B) 200% O 300% D) 350%
TS HEH! SR T T. 3,500 T SHH! ge v xuﬁmawﬁw
a:«ﬁﬁammt{aﬁﬁ 2

A) %.3%%  B) F.3¥%0 C) ¥.3239%0 D) %. ?,?\9.0
If the marked prices of a watch is Rs. 2600 of which discount allowed is

- 5%, what is the actual price of the watch?

A) Rs.2570 B) Rs.2470 C) Rs.2370 D) Rs.2270.
T3 SHIET . 400 T AT Shel AIEgH T € 9,400 | A1 el ATH 8 1 A%
AR SR AN 9T FHHI 54 e i1 9 ? _ ‘A
A) T.33%0  B) ¥.9,300 C) TR0 D) %4300

‘There is some loss in selling a bag for Rs. 900 and there is some profit in

selllig the bag for Rs. 1,500. If the loss is twice that of profit, how much is

it's cost price? : \
"A) Rs. 1,150 : : B) Rs. 1,200

C) Rs. 1,250 s i D) Rs. 1,300

= RE% )



47.

48.

49,

50.

51.

3. 3ooomm%aaaﬁﬁqw ?xoom%@m qﬁiﬁﬁmm
9?2 :

A) 19% B) %% C) NR% D) 0%

If a table purchased on Rs. 3,000 hand to sell for Rs. 2,400 due to scratches,
what is the loss percentage?

A) 17% < ~B) 18% . 2.0 9% D) 20% .
TS BAERIA] 3e < Hfean foenefis! deam g ¥:3 ® | 3k Afeen
ferenefient we 60 B s g feneff i g 2

A) 30 B) 3¥0o - C) 340 D) 30 :
The ratio of the number of male and female students in hostel is 4 : 3. If
there are 270 female students, what is the number of male students?

L]

A) 330 B) 340 ©)::350 D) 360 -
Tzt FTSToR! SI0MR ST 3 2 9 : & Y HIVEEH! H T TSI
A)  30%3%° 99%° B) ¥0°, 40° %0° '

C) 309, 90° 50° . D) X0, %0°, Wo°

Given ratio of angle of triangle is 3:7:8, find the value of angles.

A - 302:352 1150 i : B) 40° 50°% 90°

C) 30° 70° 80° D) 50° 60° 70°

H T TEEH HUH eI 9o e Jeues T 30 uﬁmaﬁaﬂ%amn

e gowed R/ gEw faanfed B v afecees! sia i sifeenfed o 2

TA) TRA B) 943 . c W D). A3

In a group of persons, 70% of the persons are male and 30% of the persons
are married. If 2/7 of the males are married, what fraction of the females is
smgle" .

A) B) 1/3 e C) 3/ D) 2/3
Wwéﬁﬁ@ 045 mmmmﬁmmmm

3‘13:{7

AY aﬁémw@ataﬁwﬁﬁﬁﬁmammwmﬁ{wt

MNYMR Feeraren @i savas difse qon fadeht fafrmm ifa asfm
e : :

By & o e S weeie s A e g ol el S

Torira St v T ey favermtaem sfvmhs T
C) ea TETY T Qe YRAM! JUleieh! Tarehrd 7T

D) Wammmmmmmmammﬂﬁ

According to Nepal Rastra Bank Act, 2058, which of the following is not

the objective of Nepal Rastra Bank?

A) ' To formulate necessary monetary and foreign exchange policies in
order to maintain the stability of price and balance of payment for
economic stablhty and sustamable development of economy and
manage it

B) To increase the access of the financial services and the public
confidence toward the banking and financial system by mamtammg
stability of banking and financial sectors ‘

~ %~
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53:

54.

55.

56.

=Dl

58.

C) To develop secured healthy ad efficient system of payment
D) To regulate inspect supcrvise and monitor the bankmg and fmancxal
system

NERS?rﬁ‘{{T%W%ﬁ ?

-A) Nepal Financial Reporting Standard

B) Nepal Fiscal Reporting Standard

‘C) Nepal Financial Restructruing Summit

D) Nepal Fiscal Restructing Summit

_ What is the full form to NFRS?

A) Nepal Financial Reporting Standard

B) Nepal Fiscal Reporting Standard

C) Nepal Financial Restructruing Summit

D) Nepal Fiscal Restructing Summit
mﬁm?ﬁm@%mmﬁaﬁﬁuﬁmamﬁwmm
THES ?

A) 3% B) ¥% (8,500 § 2% D) %%
What is the percentage of the total loan that the comerical bank should
extend to the deprived sector?

A) 3% B) 4% - © 45% D) 5%
T T SHA HK ST S TGS T A B 2

A) 19 B)iiR Cyrigs D) ¥
How many Deputy Govemors are pr0v151oned in Nepal Rastra Bank?
A 1 B) Q3 D) 4
ST T e e wfaaa ﬁzwmarém 12

A) 4 B) 9% . C) . a° D) %
How many Departements are under the Nepal Rastra Bank? :
A)=1s: - B) 16 SC) AT .D) 18
AT T el TIeh! ISl T HA B 2 i ,
A 3¥E B) Y3 C) 43 D) sed

What is the approximate capital of Nepal Rastra Bank at present?

‘A) 3Atha ., B) 4Aba = C) 5Arba- D) 6 Arba

AT THR T AT T Skl T A el oo 2

A) WS g AfREeH FE@EB) A HEed

©)  sE, IR an A Weed D) it Hisen
Which body coordinates between Government of Nepal and Nepal- Rastra
Bank? v

A) Office of Prime Mininster and Council of Mininster

B) Mininster of Finance ;

C) Ministry of Industry, Commerce and Supply

D) National Planning Commission

ATE T Heheh1 HTEH TN F FHIGRT §a?

A) Towm freheE B) Hifsh ifd agH

C) TrEIgSHl D) -fafma R asf faim



59.

60.

61.

62.

Which is not included in the functions of Nepal Rastra Bank among the
following? ; i
A) Issue of coins

B) Formulation of monetary pohcy

C) Credit creation

D) - Determination of exchange rate system

mmmwmwmmmmmmﬁ
ﬁfewavﬁwwna‘qé@ A
A 3 B) - ¥ Ay, oy e

In how many catagories the hcensed institutions should classify their entire :

loan and advances based on the period of expiry of deadlme"

A 3 B) 4 €).5 "'D) 6
mmwmmmmqw@m@@
FRER T T >

A) TR e e T T Tt i e

B)  UTCIN ThH TIRRUT Tl SRER T

0 wmgmﬁémzmmﬁ

D) T =ik @Rs fosnt ,

“Which of the following transaction cannot be done by "B" class licensed

financial institution from Nepal Rastra Bank?

A) Obtaining the loan by pledgmg its own moveable and nnmovable
assets

B) Transaction related to money transfer within Nepal

C) Transaction of letter of credit and remittance subject to pnor approval
from NRB ,
Purchase and sale of gold and sﬂver

ﬁmammmmmmmﬁm uﬁmﬁ}

ol

A) TR SraTgiE afhh B) aasmm

C) W=mwama - D) AU LSS

Chief Executive Officer of Bank and Financial Institution shall be
accountable to the . . . . for his functions.

A) Internal Audit Comnie . B) Discipline Committee

C) Board of Directors D) Nepal Rastra Bank

T W Sheh! S TR Frgfes wee B 2 \
A) AU T Sheh! TR e

B) U U Seheh! oo Tt :

C) U TR (Ffmieg) D) ¥ HHeE

Who appoints the Deputy Governor of Nepal Rastra Bank?

A) The governor of Nepal Rastra Bank : ;

B) Board of Director of Nepal Rastra Bank ’

C) Government of Nepal (Council of Mlmsters)

D)  Ministry of Finance
' =R



63.

65.

67.

68.

69.

el <Hfel FRRET e TN feria weumes o 2

Bty B AR Ol D) &
How many types of Bank and Financial Institutions are in Nepal?
A) Five B) Four C) Three D) Two

mmaﬁnﬁmmﬂ@mﬁwﬁammmﬂh
YHRE TGS ?

Ay efed . CRj ‘I"(f?’f- aC) ?Oﬁ"f' D) 3o feA

Within how many days of the completion of a month, Nepal Rastra Bank
should prepare and publish it's Balance Sheet? :
A) -7 days - B) 15 days - C) 20 days D) = 30 days
1. 00¥/9Y T Hifge Hifa TR Tgfead foxiia Temt STwR Tehee
afwmﬁmmﬁmwﬁﬂmma ?

AR B) 3 € ¥ , Py it
Accordmg to Monetary Policy of FY 2074/75, what is ‘the maximum
percent of service charge that rmcro-ﬁnance companies can level to their
customers” j

2. B): 3 o)
WW mmmmﬁmﬁmamﬁmm
aﬁaﬁwﬁmamnéw

A) B) It (&) waﬂ%'a; D) WIf®
Nepal Rastra Bank calculates Comulsory Cash Reserve of Bank and

Financial Institutions on the basis of average . . . . reserve. ‘
A) daily - B) fortnightly C) weekly .D) monthly *
Tf S FRITR T ST SASTTUS 1 e &M oS ?

A) e e B) WU WL 4%

C) wE TR FEEa D) Wi H BigT

Who will provide the licence to the money changer?

A)  Minister of Finance . B) Nepal Rastra Bank

“C) Office of the Company Reg1ster D) None of the above

SWIFT HI QU €I & 8 ?

A) Society for Wordwide Interbank Financial Telecommumcatlon
B) Society fof Worldwide International Financial Transfer

C) Society for Worldwide Interbank Fund Transfer '

D) Society of Wireless Imemanonal Financial Telecommunication
What is the full form of SWIFT? -

- A) Society for Wordwide Interbank Financial Telecommumcatlon

B) Society fof Worldwide International Financial Transfer
C) Society for Worldwide Interbank Fund Transfer
D) Society of Wireless International Financial Telecommunication

ﬁ%smt%aﬂﬁqwﬁmﬁmﬁqﬁmw YS! THETS v
FRER 9D 2 S

A) Wﬁmw - ;

B) ST FOCHIR HHl ZRRY WO ,

C) R ST wonRER F SR T D) IR

\.‘ . '__3?.‘



. Through which medium that the amount of money sent by overseas Nepah
citizens is called remittance transaction? SiR 20
.A) Money transferred through 'hundi'

B) Money transferred through banking system

C) Money transferred through non bankmg system

D) All of the above

A =seth! gl T %«'ﬁ} gl fews féi%sﬁ fofrs wler 117{
RSTISTAY! WISt TeTeh! 7 96 2

A) =AH B) HEAl C) Hen D) H1fYeR 9
Among the following, which is in the definition of money changer as
permitted by Nepal Rastra Bank to conduct money changing business?

A) Person - o B) company
C) institution 5o D) all of the above
: Wmﬁmmmmﬁmmﬁﬁmm
I T SR GRS ?

A) - T.R,000 B) ¥®.}X00 , C) 7.3,000 D) %.3,%00.

How much annual fee must be paxd to Nepal Rastra Bank to obtain licence

- of money changer for convertible currency purchase transaction? :
‘A) Rs.2,000 - B) Rs.2,500 C) Rs. 3,000 D) Rs. 3,500

thﬁﬁamﬁawﬁ%mﬁmﬁa}mma 2

A) I U T U, 045

B) %Tsﬁamﬁ?ﬁqmmw 3093 ,

C) focxh fafra (fmfa ) 85, ?oqz : :

D) U HU T, 048

Under-which law Nepal Rastra Bank has issued Money Changer Bylaws? .

- A) Nepal Rastra Bank Act, 2058

B) = Bank and Financial Institution Act, 2073

C) Foreign Exhange (Regulation) Act, 2019

D) Public Debt Act, 2059

mmmmwﬁmﬁw wﬁmmwﬁl

it 1 Yoft SHTEF T 2
A) F.9F= B) ﬁam
) TAHRIS: : D) % 90 s

How much paid up capital is required for a firm, company or institution
= wmch ‘works as a pnnc1pal company in remittance transactions?

‘=0A) Rsulcrore:- ; B) Rs. 3 crore
- C) Rs. 5 corore D) - Rs. 10 crore
. Tiifees A 5 FreTee) ST T 2 :
A) IS THR : B) AU UL %
0 UEmIAsmamEm - . D) wEHIEGE
Which entity issues the Monetary Policy? i
A) Government of Nepal B)  Nepal Rastra Bank

C) National Planning Commission D) Federal Parliament

~3R ~



75.

CA) THE SEEH st B) oY ESEEE

0 RFEE wEeE D) FRER e

In bank and financial institutions, Audit Committee is formed under the Co-

- ordination of

76.

il

78.

79.

-~ 80.

A) Chief Executive Officer B) = Managing Director
C) Non Executive Director _ D) Executive Chairperson
TCTRTHE IS SIE YU FRIE M 8 2

A) it 49 B) feam e

C) T sl : - D) e g U e
‘Which of the following is the primary function of accounting system?
A) Vouching B) Reconciling -

C) Ledger Posting : : D) . None of the above =
p) femfafurgafaa B) o fafy vamw fafy
C) wgad fafy  faxira fafy D) Wger fata T gd fafy

" Which are the major two methods of preparing a trial balance?

A)  Financial method and total method
B) Total method and normal method

C) Balance method and financial method
D) Balance method and total method

\W@@mmﬁmmm,m?

A) R - B) WEiEd C) WR - D) fR
Which of the following item is placed in the credit column of the trial
balance? ' ST

A) Purchase - B) Rent expenses
C) Fumiture - : D) Sales
ToTehT JeTeR foreIR T WET ST SR I

a)  TgT TR B YRR e e Wies T fehs |
b) mqﬁwwﬁmwmwm@a.

A)  ad®, bRH - B) a%m,bIH
.C) aibPI& D) alb3d e

~ Select the correct answer after considering the following points.

a)  All kinds of mistakes can be identified by the trial balance. .
b)  Trial balance is a list of all accounts of particular time period.

A) acorrect, b incorrect - <

B) ' aincorrect, b correct - s ;
C) aandb both correct D) aand b both incorrect
5?2 Fioy ' .

A) THN Ty - B) <IfaE We®

0 TecsEIiEdeee . D) FENRS

.~3\‘~.,



If salary is paid to'employees in cash, which is correct form the followinés?

A) asset increases B) liability increase

. C) stockholder's equity increases D)  asset decreases

81.

T mmmwwmﬁmmﬁ :

T I e/ fora PRI e AR R 2
A) A TE fRae B) WHI TR i ferara

0 ERATEFE D) T Hge et ferae

82.

- 83,

_84.

Generally, bank/cash book is called both a subsidiary book and a principal

book, however, which of the following bank/cash book is purely a
subsidiary book?

" A) Simple cash book B) Peity cash book
C) Two column cash book : D) Three column cash book -
Sirer fremsge | -
a) wE - i) e g
by TEE a2 i) TfE aeE E
o wH i) W
d) sm=Er iv)  STRE TEOA el
A)  a-v, b4, c-,d-dii B) a-ii, b-iv, ¢4, d-iii —
=€) a-i: b-iv;crit, deili ; D) a-ii, b-iii, c-iv, d-i
Match the following.
a) Assets - i.  Commission Paid
" b) Liability ‘ ii.  Prepaid Salary expenses
c)  Expenses 202 iii. Discount Received
d) Income S iv. - Outstanding Rent-
= A) a-iv, b-ii, c-, d- iii o B)' a-ii, b-iv, c-i, d-iii
a-i, b-iv, c-ii, d-iii a-ii, b-iii, c-iv, d-i
m@ﬁwwmmxmm@ﬁmm
ICRES ?
A) I faem s ' B) W " :
C) < yarE faem S Y wmmﬁm
Which financial statement shows the revenuesand expenses of a company
for a specific period of time?
A) income statement - : B) balance sheet
. C) cash flow statement
D) statement of stockholder's equity ¢
"W@mmmmmmﬁa 3
A) HERE 9w B) oIS TN ST YRAMT
) A ot Py D) WA ES
Which of the following transaction is not posted in profit and loss account”
A) commission receipt
B) payment of salary and wages
C) sale of old assets R
D)  all of the above : - : X

..-;1..'
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86.

87.

88.

89.

90.

T oA IR TS 2
A) S nfdie steeen femo : :
B) SR T TSI 1Rl IS >

- 0) [ AEREATH D) wifereR |

Why is balance sheet prepared?
A) to show the financial position of business

“B) to know the assets and liabilities of a busmess
~C) for the comparative study

D) all of the above :
ﬁﬁﬂmﬁﬁQ?ﬁm%ﬁaﬁMHﬁﬁmﬂﬂﬁﬁRWﬁéiﬂﬁiﬁ7

A) IR +sf@=-wmid | B) §HEhH- <@ = 8 Wi
C) imaavﬁﬁ+ﬁvwaanﬁa RISt e
D) iR |a

Which of the following gives basis accounting equation?

A)  Equit + Liabilities = Assets

B) - Assets — Liabilities = Networth

C) Current Assets + Non current Assets = Shareholder's Equany

D) Alloftheabove - s

TR el ATSSTHRT ST 315 ? :

A) Net profit Margin B) Earning Per Share

C) Dividend Per Share D) Assets Turnover Ratio
which is not the Profitablility Ratio from the following?

A) Net Profit Margin - B) Earning Per Share

'C) Dividend Per Share D) Assets Turnover Ratio -
gaamhﬁamﬁnngzﬁﬁ#ﬁsammwéﬁwﬁxa7

A) EIRG FgYE . wrRiE ot fent srgum
C) = A v D) TRl A ’

What is called the ratio of Net sales to Net workmg capital?
A) Provitability Ratio ;

B) Working Capital Turnover Ratio

C) Current Ratio :

D) Check not presented

aaamwﬁqaéﬁhrﬁamzwmﬁawnsmﬂqﬁa7

A) Dishonored cheque - ~ B) Discount received

C) Bankinterest D)  Check not presented

Which of the following would not affect the bank reconciliation?

A) Dishonored cheque B) Discount received

C) Bankinterest D) - Check not presented

S Team faam faoo T aft 99 9% STERH! 9Re ge fag

T e et fEUsh] ST . . . .
A) Sifes T B U
C). TESATHYSA D) aeHl fREs

R



When balance as per pass book is the startmg pomt to prepare the bank
reconciliation statement, Interest allowed by bank is .

A) -added - : B) subtracted
- C) not required to be adjusted D) depends upon situation
. oTRI HE mmm ;
A) iy B) S SR
C) =fvma aen 3T D) Tifee &
In which of the followmg, statistics is applied?
A) Economics . B) Business management ot
‘C) Commerce and mdustry D) Allof the above o
TTh! HE A TS HheHH! T 53 fafey € 2
A) TEER : - B) AR
C) wewam fafy ; D) JE@ehT
Which of the following is not a major method of data collection?
A) Questionnaire _ B) Focused groups
C) Correlational method - D)  Observation -
FATE AAGH . ... . WSS %
A) Skewness B) Variability £
C) Peakedness around mean value D) Central value
Kurtosis indicates . . . . of data. :
A) Skewness > B) Variability

C) Peakedness around mean value D) Central value
. e Siaeh! TRYE] qeTsh] HEIE o BT 2
A) A TR e O R
B) IE THel T FH W& mﬁmﬁww
C) T TTeRIEE A T HERS
D) = Tk Sifeet Wl B 7 g ST Sugeh o ,
Which of the following is not correct in relation to internal check?
A) itisa toll of internal control
B) It verifies one's job by another automatically
C) it helps to minimize the mistakes
D) Itisacomplex process which is not suitable for big organization

mmﬁmﬁwvﬁ@@lmmﬁaﬂw}
B=IE TSe S T 2

A) Trafea s : g

'B) forehrn! Shfam Fasiieon m : :
C) TrERfw=m D) T s g
Internal control has many components. Which one of the fo]lowmg isnota
component" : .

~A) control environment- -
~ B) The entity's risk assessment process
C) . quality control . D). monitoring the control
~ 39 ~
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06, 5 TR SR SETTARIETE S RIS T TH TeKD 2

A) TAEEEFR B) WermEl s
©) werE e e D) 37 T
‘Which institution can make internal audit as final audit?

A) Government of Nepal . B)  Auditor General

C)  Financial Comptroller General D) Ministry of Finance
97. COSO Framework 1 JFHR TARHE FAANE it FramomEn sifEr
I 9 2 : :

A TrafeE e B) Sifewe wEsEl _
c fmglm D) IFEH e
Which one is not the element of internal control of per the COSO
Framework? . . ; V
A) Control Environment B) Riskassessment
C) Physical facilities D) Monitoring -
98. TS A S Bl 2 : :

A) TR B) STRURE C) STEEI D) FURMEI

Which of the following is a liability? : . S

. A) cash B) equipments  C) debtors " D) Ccreditors ‘

99, SHEIFTER] ST SATtheh] I W FEAFAR ?

A) T : - B) ™R s

C) U9 - D) 3MfEsR 9

Which is the instrument that provides proprietary interest in company?

A) Bond B) Share C) Debenturé D) Warrant .

100. T ST S SRS FAEH o T e v 5e) e 99 2
A Wﬁ@qm%ﬁﬁmmmw@% 2

B) Y THH FEEES! % Wam s e W =R a3

C) AIBEH :

D) IR A e : :

In which conditions bank balance would be higher than office's Bank-Cash

- Entry Book? :

A) cheque issued by office to a party but not credited by bnak

B) an amount is deposited in bank account but‘the receipt is yet to be -

submitted in office
C) bothAandB * D) none of the above -

- L man
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AT T ek, W, TerT i, mmﬁ
wicrre fofe afen
fafa : RoLy/0¥/05

Wl S g : 900 -
W 3 9 '

7

o : : FI M, =1 < i

Lmawmmmmmmlmmmmﬁmu] ‘

.?'r

faf>rfee =1 g 2 Who is Vikramaditya?

AR HHISRE T/ ARTH Roh! TGFEH S 1 81 2.

Which is the nearest sea location from the boarder line of Nepal" ;
“Af” ST HITHR 1§ 2 Who is the author of “nathiya” novel?

X9 aﬁmmmwmmmwﬁmm ?

0.
-
_ Who started "Lakhe Jatra"? In which occasion "Lakhe Dance" is
R.
1.

-'1\’.

How many percentage of people were under the poverty line in Nepal at the :
end of 13" Plan?

maﬁqﬁaﬁmmmm R aaW%a‘:za ?
What are the two dunes of every citizen as described in current Consututlon
of Nepal? :

HIfTHe! TS Cranial bones FHfiael & ?

How many Cranial bones are there in human skull?

AT TR CshTeEeh! ATH SREgeI |

Write down the names of Metr(_)pohtan Cities of Nepal.

"The Theory of Everything" J&iehen! S1&h <hl B1?

Who is the author of "The Theory of Everything" book?
WWWWWWmWﬁWWTm*%

2

According to the Constitution of Nepal what are three bases to conduct an
independent foreign policy? -

ol Sfoun Tt W T eﬁﬁa H1 F Teres w2
According to the Consntutxon of Nepal, which bodies are there under the
local Level?

TG ST e T& TR ?ﬁmmw@mﬂm ?

performed?
= (Stale) %ab' S B | 2 What is mean by Stale Chaque

U W2 S U TEE fafi sheres % TS ? Accordmgto.
Nepal Rastrya bank Act, what does "Negotiable Bill of Exchange" include?
9@ U S fa.g. J00¥ TEA 39 T FHAH TR W W F. G

e sifga foses ASTFR 2 Write down the inscribed figures in Rs. 5

banknote issued for operation by Nepal Rastra Bank on Sharwan 31, 2014.
: e :



TS

WWWWT&W ' z‘ammmm

: ET'F!HGﬁ Sﬂﬂfﬁ@ ? How much paid up capital should 'Ka' and 'Kha' class

= 8%

9,

95.

R

0.

A

R

EES

of national 'level banks maintain as provxsmned by Nepal Rastra Bank?

KYC, AML T CFT %! JUieY Si&fe |

Write down the full form of KYC, AML and CFT. :
wiza gty fasrER ?OBXWWMHWW

Aqreiien! wiasafs 3@ i © 2 What is the per capita income of a Nepali as

per the data published by Central Bureau of Statisctics in 2075 Baisakh?
mmmmmcnpmmm?mwﬁm%
¥ T A B2 According to the report of international Monetary_ Fund,

Which is the richest country of the world in 2017 on the basis of GPD?
YR TS S SUHETaTTE I g T Q¥R § 2
Who is the present Deputy Secretary-General of United Nations and from .

which country?

T 095 A mmWsﬁmﬁmmmfﬁ )

Who Nepali citizen got the prestxglous "Padma. Shri Award" of india in-

7018 AD? :

Ts'g ' Roa_g
mﬁmn@ﬁgﬁﬁmﬁqﬁﬁmﬁa‘amu 2
=) mmwmmm o
@) A9 SRR g
M) TRl 3T THfEE weEl

e -
g?ﬁmammxmtauooahwm@?mme

rate 2 paisa per 2 month of Rs. 2, what is the interest of Rs. 2500 for 5
years? S

ﬁmnﬁAaﬁBaﬁwwrcaﬁWmelmm
ﬁaﬁ@mﬁomnﬁmnmﬁ@mwwﬁmm
U IEGH U . bt

© A takes twice as much as B and thrice’ as much as C to finish a work.

R¥.

4.

the time each will take finish the work separately 5

mtmme?aﬁmﬁwenﬁsﬁmmz

mmwamqﬁmwﬁtﬁaﬁwvwml :

The mixture of a ratio of Mansuli rice and Masina rice is 7:2 is*729 kg.
How much extra Masina nce should be added to make the mixture of
Mansuli 7:3 ratio? Find.

Wmﬁo%wmﬁﬁﬁﬂﬁ'@ﬁlﬂﬁ!ﬁio waé\qﬁtﬁ%ﬁfﬁ

949 ST T T STh SAErh! ShIEd Tl TSR | L
A table was sold a gain of 10% Had it been sold for Rs. 30 more, the gain

would have been 15%, find the cost prices of the table. 5

~¥0 ~

. Working three of them together they can. finish the work in 10 days. Find . :

~



R TH TR Alhg T 0% TE o 13% Te dhiEls w (VAT i
W%MIW'EMW'm,mwﬁmm
(VAT) T 190 . 9503 il w85 | 19 3o A afea ge9 T 909
fafe # (VAT) Wit fafsea e oo ereer 1 A tourist boughta
statue at 20% discount on the marked price with 13% Value Added Tax
(VAT). When he returns to his country; he get Rs. 1872 back for VAT at

_ the airport. Now, find the marked price and the selling price‘including VAT
of the statue. - - ¢ 5

RY. FH HIEACEHI FEE O S FEAR S At 0 B30 T 1 AR ghehe
%X .57 At § R S B, %0 S o g 3 O BT 4y HST G S
B ¥ St § S A I TSI | The average weight is 60 kg of 7
workers in an office. If the weight of 65 kg per person are 2, wéight of 60
kg per person are 3 and weight of 55 kg is 1 person, find the weight of last

- oneperson. e o s s : i 5
35. @mmqqmmmﬁmmmw
T | I, T ST SIS Wi /3 g SR e TeegT 2
i . :
The interest on a sum becomes 1/5 of the principal at 10% p.a. in a certain
interval of time. By how much should the rate of interest be increased so
that the interest will be 1/2 of the principal in the same interval of time?

RR. TS TG /X T A T, 9/¥ W G T, 93 6 TR T T 94 B
Pl Tt TeTee! 9 | il agien) et T O SRR
A stick has been painted 1/5 part with black colour, 1/4 par with yellow
colour, 1/3 part with red colour and 15 meter with blue colour. Find the
total length of the stick.

30. arfrEm, uﬁmtﬁm%ﬂmmﬁ@wmaﬁaﬁmmmﬁﬁﬁ

- THHHI R I i, T e weee e e ] o fafe .
STl et Tehveh! shfer 1 e 2 3th THTeTTE SereTsr eeger |
Anisha, Pratiksha and Samiksha went to a restaurant for dinner. If Anisha
paid 2/3 of the amount paid by Pratiksha, wheré as Pratiksha paid 1/2 of the
amount paid by samiksha, how much money did Pratiksha pay of the total -

; bill? Write the fraction into decimal. : - 5

3. OX I FEEREHE Ko & T W 51 Af 20 Ry o 5 SRR
FFH BIST T ST BT ST o FHIRREE i o 370 2
There is enough food for 75 workers for 50 days. If after 30 days, 50

- workeres left the work, then how long will the food last for the remaining
workers. ; : :

. ooo
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T < 3 W .
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: KOS!E
q. ﬁwwmmmmwﬁmmm
ﬁﬁﬁmm@ﬂﬁﬁm : 0

Clearifying the organzing structure of Nepal Rastra Bank, explam in deta11
the major function of Nepal Rastra Bank. :
. S an fafe wen @, Qoea,m‘a’mﬁ?ﬁww@ﬂ#m
- fyfa BREREE @ & § 2 S Tge | 0
What are the financial transactions. allowed to transact (perform) by 'Gha’
class licensed financial institution as, per the Bank and Financial Institution

Act.- 20737 Explain. 10
3. A A feam W A 2 S T forE SRETE wfe T
faftes & & g1 2 A el - 30
What is Bank Cash Book? What are the methods of recording transactions
in Bank Cash Book? Describe. ; 10 -
v.m“amamtammammamﬁﬁtzmu IERUERT A
TR | SN
"Balance Sheet and profit Loss Accounts are mter—dependent“ Explain w:th
. examples. - 10
¥ mmmmmm 7wmﬁamnj®m 90
‘How is Reconciliation Statement prepared ? Explam with example 10
. wuEtE wAF
.3 mmmmwmmﬁmmml 90
gﬁaﬂﬁﬁm . ®.5,000 TE . 900
' . ®.X00 ®. 900
5t F.9,000 FUEH . - w300
-gﬁﬁﬁqﬁaﬁﬁa  ®.%00 YT . 400
= : ®.2000 FHETEIEE 02020 ®.Y00
U FHA &.9000 Gl - . 93,000
I TR 0 ®.9300 ShIET F. 4,000
g fegad foat - ®.300 fabm e F. §,900
®.300 HEHISH ’ . 3,000 -
- TG : . ®.300 W ' . ®.900
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